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52-9. ofviy &
[ 4=0] 5 gb2

(A5 S5 23 5]

HEgt Ay W3zt B TME RFHME
B 2 15 181 203
EHSFSE N ZE e 3 54 651 730
EHEFRIOI A s 4 5 6.0 6.8
ALABL BE e 9 10.8
SHA| 83 100.0  100.0

HE HME FEHME
25 301 309
44 530 543
12 145 148
2 24
83 1000 100.0

52-11. A2
[MFel & gb2_11]

(M9 St FAF]

HEgt Ay W3zt BT TME RFHME
1 DO i 7 8.4 9.0
4 2 48 578 615
L DO 3 18 217 231
L 4 4 438 5.1
oL 6 1 12 13
AL B E e, 5 6.0
A 83 1000 100.0
[H o] & gb2_11_1]

(M9 S5 PAA L]

Mg Ay gt SlE HME RFHME
A e, i 30 361 390
e FO 2 34 410 442
MBI e 3 11 133 143
Ul B e, 4 1 12 13
O AL BHAN e 6 1 12 13
AAE ZBE e, 6 72
SHA| 83 1000 100.0
52-12. F/1 %

[Mel &1 gb2_12]

(M9 S5 F=AFH]

Mt MY g ulE HAE
EoEd 3l S AT e i 4 438
ofo{u|eb Bl AF o 2 8 96
OFH X b BHH HF e 3 1 1.2
IS A AT . 4 24 289
L] 5 10 120
D O 6 27 325
AT SH HF e, 7 9 10.8
A 83  100.0

5. £5|S 3=l stm WSo| 2HJL BCiD Bch o|Zo|M DS we Ao b]Fof £ of 32| s

WSo| ojmsictky MZskLzfe B2 st WK 2HES Hol FA7| vighch ==> C|olE| 212

_30_





